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Qomf) eflernssenar Gamessi L@ $ailr Syenaiggy aflarnssepd @)@ Cwmflsailed uLiLiL B erere. ($LLh
LOPDILD BIFH6V LITL_EIS®6aTs Sailr)

All questions other than language questions are in bilingual. (Except Tamil and English Subjects)
afestm (Bsa6T) @6 seupsar @) @pLiller, Csiailer Cung @Qps aflert ($s6r1) #f Oeuiwiu or' L 1g.

In event of any mistake in any question/s, no corrections will be made in the Question/s during the
examination.

aerngClgm@Lifer @muuied, Geuigy umiliugpOlset seaflwuns sl Berer @)L g5GmGw ROUGH
WORK Q#uig uniss Geues®d. Qens allesinsg 6lsm@LiteS)(bbg FfG55dm L 15 FnBHSD STATHET 615/ aLD
QULPEIGLILIL_LDTL L _TZ).

Rough work, it any, may be done in the Question Booklet only in the space provided at the end of the
Booklet. Do not tear it off from the Question Booklet. No additional paper shall be provided.

2




10.

11

12.

13.

14.

15.

16.

Gaiay <epuiled oL Fems L L uement TGO L[ daraCsmed Quramue CsranewCus), Gugd,
el a0 prl@GHLGU® wHmID eTES0euT(h  LOSTETEY FISEIBISEOTULD LIWGTLRSSHIUS Sl
QEwwiuc B erergy @ aupeon LIWIGSTLI (RS B) 68T TG0 5SS BESLD QeviwiL@aiser.
Use of Log tables, Calculators, Slide rules, Mobile Phone, Pager, Digital Diary or any other electronic
item/ instrument etc. in the examination hall is not allowed. Their use will result in disqualification.

. @65 1 f aflerrssmer Professor Academy -9, CsTGFSSLILIL L G

This Model Question Paper Prepared by Professor Academy.

afes1ngClF 1@ LiLITesg afletentLiLigmiise@psd 9.50 wp.u. 6@ eupmsLiL®LL. aleTesILiugTiiser alens
Q@i wpnio OMR aflen_ggmafled BlrLiu Geuswrg w afleugmisener #flwns BloLin Geuesr@o. 10.00 wp. s
wessllg@ pesr  wewnfl  @dlE@Ld. ysear LnGs Gl lullL  wps@evgemw PnEs  Ceuest(hLb.
aestngClgm@Lifewer Sppsai ar aGseyd LS/ aflarr @QaTed Q)BSEDST YOG LIGSHEISGT
FPpCsr FHwns yfx LUFe YsTLCwT QBSFDEST. G LSS FPHLOLL FBHLOL UBHDST 61T
Fsflunissayn  afleng QsngLle, emGswumag aGsaid Goop QnLlayd, Yos oD
sewrasresfiLiLmeril b Clsfallgs aflerms Csm@Lilleer wipmls Csmerer Gouesst(Rd CHiey (LpLy ouSDHE TGS
615515695 ewfl 1.25 19.1-8@d, @QmuP toewfl 1.30 9. 1. SGLb 919 &G Lb.

The Question Booklet will be issued to the candidates at 9.50 am and the candidates must fill in all
entries in Question Booklet and OMR Answer Sheet. Candidates should open the question booklet
seal after a long bell at 10.00 am. After opening the Question Booklet, ensure that any page/question
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PART B English

31. Whose essay influenced Shakespeare’s portrayal of
Caliban?

a) Cinthio

c) Leo Africanus

b) Montaigne
d) Whetstone

32. Choose the WRONG statement concerning The
Tempest:

a) The Tempest is a tragicomedy (also a romance).
b) Miranda was not yet three when she’s brought to
the island.

c¢) Sycorax was born in Algiers.

d) Ariel says: “We are such stuff / As dreams are
made on”

33. Identify the part of the sentence that has an error:
[t cannot be forecasted (A) / how society will emerge
(B) / a generation hence. (C) / No error (D)
a)A b) B c)C d)D
34. Identify the part of the sentence that has an error:
Not only the bandits robbed (A) / the traveller of his
purse (B) / but they also wounded him grievously. (C)
/ No error (D)
a)A b) B c)C d)D
35. Find the synonym of the underlined word:

The economy is stimulated in part by government
spending.

a) motivated
c) despised

b) disputed
d) strayed

36. Find the synonym of the underlined word:
We’'re all liable to make mistakes.

a) optimistic b) inadequate
c) shallow d) likely

37. Find the antonym of the underlined word:
The animals were drinking putrid water.

b) plausible

d) glistening

a) rotting
c) fresh

38. Find the antonym of the underlined word:
They were intrepid explorers.
a) malignant

c) timid

b) daring
d) prevalent

39. Which of the following is a cumulative
conjunction?

TRB

a) and
c) but

b) scarcely . . . when
d) therefore

40. Which of the following is NOT a pair of
homophones?
a) Key / Quay
c) Loss / Lose

b) Discreet / Discrete
d) Soar / Sore

41. Who is the uncle of Desdemona?
a) Brabantio b) Lodovico
c) Gratiano d) Montano

42. “Farewell: Othello’s occupation’s gone.” Who
utters this line?
a) Othello

c) Desdemona

b) lago
d) Emilia

43. In Jane Harrison’s Stolen (1998), which character
is “always on the run”?

a) Anne b) Sandy

c) Shirley d) Ruby

44. Magistrate sentences Rita Joe to in prison.
a) fifteen days b) thirty days

c) fifteen weeks d) thirty weeks

45. Which city is described by Lakunle as “the city of
magic”?

a) The Belle
¢) Ilujinle

b) The Bale
d) Lagos

46. In which year does Patrick White’s novel Voss
open?
a) 1845 b) 1957

c) 1973 d) 1990

47. Which member of the Bloomsbury Group was an
economist?

a) Duncan Grant

c¢) John Maynard Keynes

b) E. M. Forster
d) Lytton Strachey

48. Who reflected how she might give Septimus
Warren Smith a taste of Antony and Cleopatra in
Woolf’s fourth novel?
a) Sally Seton

¢) Miss Pym

b) Miss Kilman
d) Miss Isabel Pole

49. What is the subtitle of The Mayor of Casterbridge
(1886)?

a) The Life and Death of a Man of Character

b) The Life and Times of a Man of Character

c¢) The Life and Death of a Man of Circumstances

d) The Life and Times of a Man of Circumstances

P.T.O



50. Mr. Tulliver lost the lawsuit with
b) Bob Jakin
d) Mr. Pivart

a) Dr. Kenn
c) Mr. Stelling

51. Who rejected Cordelia when she was disinherited
by Lear?

a) Duke of Albany

c¢) Duke of Burgundy

b) Duke of Cornwall
d) King of France

52. Which of the following is uttered by Edgar?

a) How sharper than a serpent’s tooth it is / To have a
thankless child!

b) When we are born, we cry that we are come / To
this great stage of fools.

¢) Why should a dog, a horse, a rat have life, / And
thou no breath at all?

d) We that are young / Shall never see so much, nor
live so long.

53. Choose the WRONG statement concerning All for
Love:

a) It is written in blank verse.

b) It is subtitled The World Well Lost.

c) The eunuch Alexas gives Antony Cleopatra’s ruby
bracelet.

d) Cleopatra asks Charmion to bring “the cure of all
ills” (the asp).

54. Who is described as “a wit and a poet” by Lady
Sneerwell?

a) Mrs. Candour

b) Sir Benjamin Backbite

c) Mr. Crabtree

d) Snake

55. Find the WRONG statement concerning the
character Waitwell:

a) He is a servant to Mirabell (who is in love with Mrs.
Millamant).

b) As a loyal servant, he agrees to marry Mrs.
Millamant’s maid, Mincing.

c) He impersonates Mirabell’s invented uncle, Sir
Rowland.

d) His gallant act as Sir Rowland places Lady Wishfort
in an embarrassing situation.

TRB

56. What is called by Oliver Goldsmith a “species of
bastard tragedy”?

a) Morality play

c) Laughing comedy

b) Senecan tragedy
d) Sentimental comedy

57. What is the name of the lawyer who took the case
of Absalom Kumalo pro deo (for God)?

a) Matthew Kumalo

b) Theophilus Msimangu

c) Father Vincent

d) Mr. Carmichael

58. Basil H. Johnston’s Indian School Days and Ruby
Slipperjack’s Honour the Sun are examples of
a) Tribal literature
b) Interfusional literature
)

c) Polemical literature

d) Associational literature

59. What was the most revered animal in Mbanta and
was addressed as ‘Our Father’?

a) Ogbanje

b) Umuada

)
¢) The royal python
d) The python of the sky

60. Who plans to write a book named The Pacification
of the Primitive Tribes of the Lower Niger?

a) Mr. Brown

b) Reverend James Smith

c) The District Commissioner

d) Ogbuefi Ezeudo

61. Who among the following is an executioner?
a) Pompey b) Barnardine
c¢) Abhorson d) Ragozine

62. Which name is taken by the disguised Duke
Vincentio of Vienna?
a) Friar Hubert

c) Friar Peter

b) Friar Thomas
d) Friar Lodowick

63. What is the original meaning of the term ‘lingua
franca’, which comes from Italian?

a) Divine tongue b) Vulgar tongue

c) Jewish tongue d) Frankish tongue
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64. Special technical vocabulary related with a specific
field or activity is called ______
a) Cliché

c) Code-switching

b) Euphemism
d) Jargon

65. What is the most widespread airstream
mechanism?

a) Pulmonic egressive
c) Glottalic egressive

b) Pulmonic ingressive
d) Glottalic ingressive

66. Who devised the Cardinal Vowel system?
a) Daniel Jones b) Henry Sweet
c) Henry Fowler d) Noam Chomsky

67. Which of the following can be called ‘narrow
transcription’?

a) Phonemic transcription

b) Phonetic transcription

c¢) Pronunciation respelling

d) Suprasegmental features

68. Semi-vowels are also called
a) Stops b) Liquids
c) Glides d) Schwa

69. A branch of Semantics that studies the origin of the
names of people and places:
a) Hypernym

c¢) Onomastics

b) Collocation
d) Pejoration

70. What morpheme is used to form the noun
‘attachment’ from the verb ‘attach™?

a) functional suffix b) inflectional suffix
c) lexical suffix d) derivational suffix

71. Fill in the blank in the lines from “Sonnet 106”
Then, in the of sweet beauty’s best,
Of hand, of foot, of lip, of eye, of brow,

[ see their antique pen would have express’d

a) blazon b) old rhyme

c) chronicle d) prophecies

72. Shakespeare’s Sonnets (1609) was dedicated to

a) Thomas Thorpe
c) Henry Wriothesley

b) Mr. W.H.
d) William Herbert

TRB

73. Which term was used by the British government to
refer to the untouchable communities?

a) Sudras b) Depressed classes

c) Dalits d) The Broken Men

74. Who wrote the essay “The Doctor and the Saint”
as an introduction to the 2014 annotated critical
edition of Ambedkar’s Annihilation of Caste?

a) Arundhati Roy b) Vasant Moon

c¢) Sayajirao Gaikawad d) Srividiya Natarajan

75. Which relative of Nehru became one of the
ministers in the United Provinces — the first woman
minister in India?

a) Swarup Rani

b) Vijaya Lakshmi Pandit

c) Nayantara Sahgal

d) Kamala Kaul

76. Ganpat (the goat-face) beat Munoo hard when
Munoo delivered a jar of jam as bribe to Lady
Todar Mal.
a) rose-leaf
c) lotus-leaf

b) jasmine-leaf
d) sunflower-leaf

77. In Bombay, with the old man Hari (his wife
Lakshami and two children), Munoo got a job at Sir
George White , whose warder was Nadir
Kahan and foreman was Jimmie Thomas (the Chimta
Sahib).

a) Rice Mill

¢) Sugarcane Mill

b) Cotton Mill
d) Wheat Mill

78. In which year did Sophie Mol die?

a) 1962 b) 1969 c) 1993 d) 1997

79. Who stole the life savings of Apu (hidden in a

pillow)?
a) Ravishankar b) Damodar
¢) Raju d) Puttanna

80. How many poems are there in the prose
translation of Gitanjali: Song Offerings?

a) 102 b) 103

c) 156 d) 157
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81. Choose the WRONG statement concerning
Aristotle’s Poetics:

a) Episodic plot is the worst of all simple plots.

b) Simple plot has the change in the hero’s fortunes
without Peripety or Discovery.

c) The three parts of the plot are Peripety, Discovery,
and Suffering.

d) The Chorus should not be regarded as one of the
actors.

82. Choose the WRONG statement concerning
Dryden’s Essay of Dramatic Poesy (1668):

a) Dr. Johnson affirms of it that “modern English prose
begins here”.

b) Dryden wrote it to “to vindicate the honour of our
English writers”.

c) Dryden calls Ben Jonson “the Virgil” of dramatic
poets.

d) Dryden selects Ben Jonson’s The Alchemist for a
short examen.

83. When was Coleridge’s Biographia Literaria
published?
a) 1798 b) 1800 c) 1802 d) 1817
84. Which critic says: “One must look into the cerebral
cortex, the nervous system, and the digestive tracts”?
a) T. S. Eliot b) I. A. Richards

c) William Empson d) Northrop Frye

85. Who was the companion and colleague of Simone
de Beauvoir (1908-1986)?
a) Henry de Montherlant
c) Paul Claudel

b) Jean-Paul Sartre
d) André Breton

86. According to Showalter, which type of feminist
criticism is concerned with “woman as the consumer
of male-produced literature”?
a) The feminist critique b) Woman as writer
c) Gynocritics d) Critica

87. “Like a huge Python, winding round and round . . .
/ A creeper climbs, in whose embraces bound / No
other tree could live.”

Which literary element is employed in these lines?

a) Allusion b) Apostrophe

c¢) Anthropomorphism d) Zoomorphism

TRB

88. The third book of Hard Times: For These Times

(1854) is titled :
a) Garnering b) Reaping
c) Sowing d) Whelp-Hunting

89. What, according to Orwell, became “a serious
weapon that frontiers have become definitely
impassable”?

a) The atomic bomb
c) The radio

b) The aeroplane
d) The gunpowder

90. Which of the following is one of the “democratic
weapons”?

a) Tanks

c) Bombing planes

b) Battleships
d) Hand-grenades

91. Point out the statement made by Dryden on
Chaucer:

a) He is a perpetual fountain of good sense.

b) He is our ‘well of English undefiled’.

c) He has ‘gold dew-drops of speech’.

d) With him is born our real poetry.

92. Identify Matthew Arnold’s definition of poetry:
a) Poetry is the breath and finer spirit of all
knowledge.

b) Poetry is the spontaneous overflow of powerful
feelings.

c) Poetry is a criticism of life.

d) Poetry sheds no tears “such as Angels weep,” but
natural and human tears.

93. Who, according to Carlyle, knew “no English
History but what he had learned from Shakspeare™?
a) Sir Thomas Lucy

b) Wilhelm Schlegel

¢) The Duke of Marlborough

d) The Earl of Southampton

94. In Act 3, Scene IV of Prometheus Unbound, who
addresses Asia as follows: “Mother, dearest mother!
May I then talk with thee as I was wont?”

a) Demogorgon

b) Hercules

c¢) The Spirit of the Earth

d) The Spirit of the Hour
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95. In Chapter 18, when Edgar left for London to see
the dying Isabella, the 13-year-old Cathy escaped
Thrushcross Grange to see the fairy caves near

a) Penistone Crags
c¢) Yorkshire

b) Gimmerton
d) Liverpool

96. In Sense and Sensibility (1811), who represents the
“sense” of the title of the novel?

a) Elinor

c) Margaret

b) Marianne
d) Lucy Steele

97. How many lines are there in the “General
Prologue” to The Canterbury Tales?

a) 850 b) 854 c) 858 d) 862
98. Choose the WRONG statement concerning the
“General Prologue”:

a) The Knight has been in 15 mortal battles.

b) The Yeoman wears a medal of St Christopher.

c) The Merchant has a forking beard.

d) The Clerk has 12 books in red and black of
Aristotle’s philosophy.

99. Which ballad is alluded to in “Dream Children: A
Reverie” (Jan. 1822)?

a) Lord Randall b) Chevy Chase

c) The Children in the Wood d) Sir Patrick Spens

100. In “New Year’s Eve”, Elia drinks wine and looks
at himself as the “jolly candidate” for the year
a) 1820 b) 1821 c) 1822 d) 1823
101. Whose poem does Wordsworth cite to illustrate
that “the language of Prose may yet be well adapted to
Poetry”?

a) Thomas Gray’s “Sonnet on the Death of Mr.
Richard West”

b) Robert Burns’s “Tam o’ Shanter”

c) Oliver Goldsmith’s “The Deserted Village”

d) William Cooper’s “The Solitude of Alexander
Selkirk”

102. Hazlitt says that, in 1798, Coleridge came to
Shrewsbury to succeed Mr. Rowe as a

minister.

a) Unitarian
c) Protestant
TRB

b) Dissenting
d) Anglican

103. In The Rape of the Lock (1714), “the glittering
forfex” is an ironically inflated epithet for

a) the scissors
c) the sconce

b) the muse
d) the bodkin

104. “The Canonization” is organized as an extended
proof of the thesis that sexual lovers are
saints.

a) euphemistic
c) paradoxical

b) onomatopoeic
d) rhetorical

105. “My vegetable love should grow / Vaster than
empires and more slow.” Which figure of speech is
employed in these lines?
a) Hyperbole

c) Hyperbaton

b) Chiasmus
d) Hendiadys

106. What, according to I. A. Richards, is “the original
difficulty of all reading”?

a) Stock responses

c) Making out the meaning

b) Doctrinal adhesions
d) Sentimentality

107. Seven Types of Ambiguity (1930) led to Empson
being connected with the school of

a) Deconstruction b) Cultural Materialism
c¢) New Criticism d) New Historicism

108. For Frye, the search for archetypes is a kind of

a) literary philology
c) literary prosody

b) literary anthropology
d) literary philosophy

109. Cleanth Brooks suggests that the poem which
meets T. S. Eliot’s test comes to the same thing as
a) I. A. Richards’s “poetry of synthesis”
b
c
d

’ &

Colerdige’s “willing suspension of disbelief”
Keats’s “negative capability”

Matthew Arnold’s “disinterestedness”

~— ~— ~— ~—

110. Who wrote the essay “Shakespeare at Sonnets”
(The World’s Body, 1938)?
a) Dante Alighieri b) W. B. Yeats
c¢) John Crowe Ransom d) James Thomson
111. Which of the following is an American spelling?
a) encyclopaedia b) maneuver

c) cancelled d) pedlar
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112. Using “Hollywood” for the film industry is an
example of ___
a) metonymy

) prosopopoeia

b) synecdoche
d) hyperbole

113. Find the compound word with the Adverb +
Participle pattern:
a) lukewarm
c) outspoken

b) heart-broken
d) overhear

114. Use appropriate articles:
[ met ___ heir of a wealthy family at ___ hotel.
b) an, a c)a, a

a) a, an d) an, an

115. Pick the correct determiner:
I've got hardly money.
a) many b) a few

c) any d) some

116. Use the right form of the given verb:

[ was hoping to meet James, but by the time I arrive
he ___ (go) home.
a) would have gone
c) will have gone

b) shan’t go
d) won’t go

117. ‘I drove the car that you lent me.’

What is the passive voice of this sentence?

a) I was lent by you a car that I drove.

b) I was lent a car by you that I drove.

c) The car that you lent me was drove by me
d) The car that you lent me was driven by me.

118. The Rape of the Lock was first published in

a) Lintot’s Miscellany
c) Tonson’s Miscellany

b) Tottel’s Miscellany
d) Bentley’s Miscellany

119. Which ‘Graveyard poet’ wrote “Night Thoughts”?
b) Thomas Parnell
d) Robert Blair

a) Thomas Gray
c) Edward Young

120. In Absalom and Achitophel (1681), Egypt

represents
a) Jebusites b) Jews
c) France d) Holland

121. To whom does Marlene offer one job in a
‘knitwear’ marketing department and another at a
promising concern selling ‘lampshades’?

TRB

a) Jeanie b) Louise

c) Shona d) Isabella Bird
122. Nora gave Maurya the stick Michael brought
from

a) the Aran Islands
c) Donegal

b) Connemara
d) Bay of Gregory

123. Which of the following is one of the sources of
Mother Courage and Her Children?

a) Grimmelshausen’s Simplicissimus

b) Diirrenmatt’s Die Panne

c) Mann’s The Transposed Heads

d) Cinthio’s Hecatommithi

124. Which play is a sequel to Osborne’s kitchen-sink
drama Look Back in Anger (1956)?

a) The Entertainer (1957)

b) Inadmissible Evidence (1964)

c) A Patriot for Me (1965)

d) Déjavu (1992)

125. In Keats’s 80-line poem “Ode to a Nightingale” (c.
1819), which flower is described as “mid-May’s eldest
child”?

a) Hawthorn
¢) Violet

b) Eglantine
d) Musk-rose

126. As a , Wordsworth “made one long
bathing of a summer’s day” in the stream of the river
Derwent, “a tempting playmate” he dearly loved.

a) a four years’ child b) a five years’ child

¢) a six years’ child d) a seven years’ child

127. What is the full title of Wordsworth’s “Ode:
Intimations of Immortality”?

a) “Ode: Intimations of Immortality from
Reminiscences of Childhood”

b) “Ode: Intimations of Immortality from Recollections
of Childhood”

c¢) “Ode: Intimations of Immortality from
Reminiscences of Early Childhood”

d) “Ode: Intimations of Immortality from Recollections
of Early Childhood”

128. When did Wole Soyinka receive the Nobel Prize
for Literature?
a) 1936 b) 1973

c) 1986 d) 1993
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129. Under which tree did the Swagman camp in
Banjo Paterson: “Waltzing Matilda”?

a) Coolabah b) Billabong

c¢) Jumbuck d) Billy

130. When was the grandfather of the speaker of “At
Cooloolah” beckoned by a ghost (a black accoutred
warrior)?

a) Fifty years ago
c) Eighty years ago

b) Seventy years ago
d) Ninety years ago

131. Who, according to Marija Gimbutas, were the
original Indo-Europeans?
a) the Manx people

c) the Kurgan people

b) the Hittite people
d) the Tocharian people

132. What was the dialect of the Jutes in the
southeast?
a) Northumbrian
c¢) Kentish

b) Mercian
d) West Saxon

133. Which slang term means ‘courage’?
a) prig b) pinch
¢) pommel d) pluck

134. The fixation of English spelling is associated in
most people’s minds with the name of .

a) Dr. Johnson b) Edward Phillip

c) William Bullokar d) Alexander Gil

135. The negative feelings or experiences that can
create a barrier to acquisition are called
a) affective factors b) transfer

TRB

c) sociolinguistic competence d) foreign talk

136. Which method has its roots in the traditional
teaching of Latin?

a) The grammar-translation method

b) The Audiolingual Method

¢) Communicative Approaches

d) Task-Based Learning

137. Which type of syllabus focuses on grammatical
structures?

a) Structural syllabus
c) Thematic syllabus

b) Semantic syllabus
d) Situational syllabus

138. Fill up the blank:

“After this Job lived years, and saw
his children and grandchildren for four generations. So
Job died, old and full of days.”

a) One hundred and ten

b) One hundred and twenty

¢) One hundred and thirty

d) One hundred and forty

139. Besides The Spanish Tragedy, what was the only
other play certainly by Thomas Kyd?

a) Dido, Queen of Carthage b) Cornelia

c¢) Massacre at Paris d) The Jew of Malta

140. Which of the following disposition is associated
with ‘blood’?
a) Sanguine
c) Choleric

b) Phlegmatic
d) Melancholic
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EDUCATION PSYCHOLOGY
SeLadl 2 _araillleL

Q.141) The Mid-Day Meal Scheme has been
renamed as which of the following?

(A) PM Aahar Yojana

(B) PM Annapurna Scheme

(C) PM POSHAN

(D) PM Nutrition Mission

Q.142) The main goal of the NIPUN Bharat Mission
is to ensure foundational literacy and nhumeracy for
children by the end of which grade?

(A) Grade 1 (B) Grade 2

(C)Grade 3 (D) Grade 5

Q.143) “Jaadui Pitara” is mainly targeted for:
(A) Secondary school students

(B) Parents only

(C) Teacher educators

(D) Foundation stage learners

—_ ~— ~— ~—

Q.144) “Integral education” covering five aspects of
human development is a concept advocated by:
(A) Sri Aurobindo

(B) Jiddu Krishnamurti

(C) Vivekananda

(D) Tagore

Q.145) Who is considered the Father of Sociology?
(A) Max Weber

(B) Auguste Comte

(C) Karl Marx

(D) Emile Durkheim

~ -l ~— ~

Q.146) Rousseau’s educational philosophy best
supports which concept?

(A) Societal control

(B) Naturalistic development

(C) Industrialization of education

(D) Rote memorization

—_ ~— ~— ~—

Q.147) When was Anna University, a premier
institution for engineering and technology,
established?
(A) 1929

(C) 1982

(B) 1957
(D) 1978
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Q.148) Who is hailed as the "Father of the Tamil
film industry" and is known for producing and
directing the first silent film in South India?

(A) K. Balachander

(B) Dada Saheb Phalke

(C) R. Nataraja Mudaliar

(D) S. S. Vasan

Q.149) Which Chola king is famous for his naval
expeditions that extended the empire to
Southeast Asia?

(A) Rajaraja Chola |

(B) Rajendra Chola l

(C) Kulothunga Chola |

(D) Adityal |

Q.150) Human brains having enactive, iconic and
symbolic modes of representation. This concept
formation was given by

(A) Bruner

(B) Pavlov

(C) Piaget

(D) Thorndike

Q.151) Pre-operational stage is one of the
important  stages of Piaget's cognitive
development between

(A) Oto 2years

(B) 11 years and above

(C)7to 11 years

(D) 2to 7 years

Q.152) Physical developmentis .
A) Quantitative in nature

Qualitative in nature

Reflective in nature

Continuous in nature

~—~

(

(B
(C
(D

~— ~—

Q.153) In Pavlov's classical conditioning, the
unconditioned stimulus (UCS) is a stimulus that:
(A) Elicits aresponse only after repeated pairing
(B) Elicits a response without prior learning

(C) Becomes neutral after conditioning

(D) Is the same as the conditioned
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Q.154) Thorndike's 'Law of Effect' states that
behaviors followed by satisfying consequences
are likely to be:

(A) Weakened

(B) Forgotten

(C) Repeated

(D) Generalized

Q.155) The Gestalt theory of learning emphasizes
that the learner perceives things as a:

(A) Collection of individual parts

(B) Whole or a unified pattern

(C) Random set of stimuli

(D) Response to a single stimulus

Q.156) The need to succeed, to excel, and to
achieve a high standard is known as:

(A) Self-Actualization

(B) Power Motivation

(C) Affiliation Motivation

(D) Achievement Motivation

Q.157) According to Guilford's 'Structure of
Intellect’ model, intelligence can be classified
along which three dimensions?

(A) Single, Two-factor, Multi-factor

(B) Operations, Contents, Products

(C) Componential, Experiential, Contextual

(D) Linguistic, Logical-Mathematical, Spatial

Q.158) Who proposed the 'Group-Factor Theory'
of intelligence, suggesting that intelligence is
composed of primary mental abilities like verbal
comprehension and spatial visualization?

(A) Louis Thurstone

(B) Charles Spearman

(C) Raymond Cattell

(D) J.P. Guilford

Q.159) Continuous and  Comprehensive
Evaluation (CCE) was legally supported under:
(A) NEP 2020

(B) RTE Act 2009 Section 29(2)

(C) Kothari Commission 1966

(D) NCERT 2000
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(4) erued ged GLmesr
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(D) CaFw a6 rmuids wpmiLd LudnF
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Q.160) Which of the following is the correct order of
the hierarchy in evaluation?

(A) Test » Measurement > Assessment > Evaluation
(B) Measurement » Test > Assessment > Evaluation
(C) Test » Assessment » Measurement - Evaluation
(D) Assessment > Evaluation > Measurement > Test

Q.161) A Mathematics Readiness Test to predict
performance in Algebra is an example of:

(A) Achievement Test

(B) Aptitude Test

(C) Diagnostic Test

(D) Prognostic Test

Q.162) Who is known as the father of the Great Man
Theory of leadership?

(A) Fiedler

(B) Thomas Carlyle

(C) Kurt Lewin

(D) Max Weber

Q.163) A student reflects on their learning strategy
and revises it for better performance. What type of
knowledge is this?

(A) Factual

(B) Procedural

(C) Metacognitive

(D) Conceptual

Q.164) The term Curriculum is derived from a Latin
word “currere” which means:

(A) To teach

(B) Torun/racecourse

(C)To learn

(D) To read

Q.165) Which principle of curriculum development
encourages addressing various learning styles and
preferences?

(A) Balance

(B) Individual Differences

(C) Utility

(D) Relevance

Q.166) Project-based, real-life learning in curriculum
best reflects which approach?

(A) Logical

(B) Spiral

(C) Unitary

(D) Topical
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0.160) eTaupeusToupmPled 618 LDFLILTL 19 6oT
Flwmer Blewevpewm (Hierarchy) auflens?

(4) Cangemer — a1l BHFe0 — LG LILFH —

LS LILITUIGY

(B) a1adl(hFed — CFigener — oG LILTH —

LS LILITUIGY

(C) GaFngemest — LG LILTH — arai(BHFe —

LS LILITUIGY

(D) @ LILTH — wHLiuTwia] — aTalBHFe —
Gargemaer
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(4) 5195500 (B) @®'50
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Q.167) Which institution leads the national Virtual
Labs project in higher education?

(A) IT Bombay

(B) llISc Bangalore

(C) IT Delhi

(D) NIT Trichy

Q.168. Which toolis India’s first Al-powered teacher
robot?

(A) Vedabot

(B) IRIS

(C) EAGLE

(D) AARNA

Q.169) TPACK was proposed by:
(A) Mishra & Koehler

(B) Skinner & Crowder

(C) Morrison & Hunt

(D) Gagné & Krathwohl

Q.170) Which platform is India's main MOOC
provider and also serves as an OER repository?
(A) SWAYAM Prabha

(B) Pathshala

(C) SWAYAM

(D) e-PG pathshala
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0.167) owi saluiled CsHw CouiBlsd
UIISEIFOT B L_Gens UPBLSSHILD BDIGTLD
615/?

(4) IIT (LpLoe® LI

(B) 11Sc Q)LisI%eor
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(D) NIT (558

0.168. QpHwralest (LpFed Al-@QUSHLILIL L
o FRwg CorGum Hmmal) 61gy?

(4) Vedabot

(B) IRIS

(C) EAGLE

(D) AARNA
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(C) LomfFesr & o essTL-
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(D) @-1928) LiTsauTevT
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GENERAL KNOWLEDGE
QU giMiey

Q.171) The first Indian to become a member of
the British Parliament was?

(A) Mahatma Gandhi

(B) Dadabhai Naoroji

(C) Subhas Chandra Bose

(D) B.R. Ambedkar

Q.172) Which was a military title during
Sangam Age?

(A) Poligar

(B) Perumakkal

(C) Enadi

(D) Manigramattar

Q.173) The Directive Principles of State Policy
(DPSPs) in the Indian Constitution were
inspired from which country's Constitution?
(A) United States of America

(B) United Kingdom

(C) Ireland

(D) Canada

Q.174) The highest peak in the Aravalli Range
is__

(A) Mount Abu
(B) Anamudi

(C) Doddabetta
(D) Guru Shikhar

Q.175) Which of the following is classified as a
primary pollutant?

(A) Ozone

(B) Smog

(C) Sulphur dioxide (SO,)

(D) PAN

Q.176) On which date is India’s National
Sports Day celebrated?

(A) June 23

(B) August 29

(C) April 6

(D) September 5
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Q.176) On which date is India’s National
Sports Day celebrated?

(A) June 23

(B) August 29

(C) April 6

(D) September 5

Q.177) Which among the following
organisation released Multidimensional
Poverty Index in India?

(A) NITI Aayog

(B) Ministry of Economic Affairs

(C) National Statistics Office

(D) Ministry of Internal Affairs

Q.178) Who is known as the "Moon Man of
India"?

(A) Dr. K. Sivan

(B) Dr. Mylswamy Annadurai

(C) Dr. Vikram Sarabhai

(D) Rakesh Sharma

Q.179) The difference between the compound
interest and simple interest on 310,000 at 10%
perannum for2yearsis__ .

(A)X100

(B) X250
(C)R200
(D)X150

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural
Development

(B) National Bureau for Agricultural Research
and Development

(C) National Authority for Banking and Rural
Development

(D) National Board for
Resource Development

Agricultural and

0.176) @mpFHwraier CsFw alenarwimL” (®
BIGT 6T BTeMe0 ClsmesdrL_m_L1LIHSm?
(4) 879 Gt 23

(B) QHavL" 29

(C) erLiged 6

(D) QFLiL_1bLig 5

0.177) @QBHwmailed LGy LIfLDTERT 6 mIe»LD
@O e Gleueuil L ereupLd

QM LOLIL|F TGV 6T5)?

) p% 9 Gurs

(B) Qumperngsrg aNeUETT e LDFFHLD

(C) GaRw Lyatefladleus 9yaaevsLd

(D) 2_0THID O LOFFFLD

0.178) @S wrailer "Blevey LoeslST" eTeaTn)
QLSS LILIB LIGUT WiTF?

(A) s g G%. Faiesr

(B) L_T&L_[J 69 LDGOFGUTLE) 2] GE5TGHT TS 6O T
(C) L_ns LG @& gLd FImLimul

(D) 1GLoey Fhtom

0.179) = 10,0008 () 10% au" 19 ul6) 2
24, (NS @FS ST Fol_(h) @IL LY LODHM/LD
eTaflw e 19 @SB WTFLD 6TRIRIGTE?

(4) =100

(B) €250

(C) 200

(D) 150

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural
Development

(B) National Bureau for Agricultural Research
and Development

(C) National Authority for Banking and Rural
Development

(D) National Board for
Resource Development

Agricultural and
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